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Purpose of the Sweet Sheet- You are to complete the Sweet Sheet. When ymi orrect th w

“Sweet Sheet” if you say, “Sweet!”, you are in good shape for the test. If however, you sa;
“Oh, (silly) Sheet!”, you need to come in for tutoring. @)
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1‘:‘ Part One: Scientific Notation and Significant Figures : |.
Iy 1. Write the number in scientific notation. :
a. 730,000 £ b. 6,100 3 c. 8,915,000,000 >
4.3 %/0 b lix 1D 0,915 % (0
d. 0.00000748 e. 0.00093 f. 0.0000000000540
j},obﬁ (D oR 4 5,40 % (D
!f 2. Write the number in standard form.
| a.8.04 x 1075 b. 1.39 x 1072 c. 7.45 X 103
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3 State the number of Significant Digits in the following.
a. 0.0000345204 b. 30.04520000 c. 45,930,400,000
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4. Write the product in scientific notation and proper significant digits.
5 (735 x 1074)(3.45 x 105) b (3 678 X w-’?);/f
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- 1. AADSwer the questions showing work. e SR
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lly finds the mass of an object to be 76.3 g. If the actual mass of the object is 82.4g.
her percent error? | - |

b. Dul:ing a lab you measure the density of a substance to be 1.45 g/mL. The actual value
according to Super Chemist Smith is 1.53g/mL. What is your percent error?
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¢. Hu@ston and Hannah determine the weight of an object three different times. The values they
determined were 2.87g, 2.86¢, and 2.85 g. The accepted value is known to be 2.98g.
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-Are the values Hughston and Hannah determined precise? Explain.
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-Are the values accurate? Explain.
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-Calculate the percent error for the first measurement. -
\2.9% -28%1_y,00 = 3.6 1%
2.45 .
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d. Bob and Francine found the density of a substance. Their results were: 9.67

9.53 g/mL. If the actual density of the substance was 9.63 g/mL, what can you sav about
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3 feet = 1 yard, 12 inches = 1 foot.

1. Filling the following numbers, given the first.

| .
’ Mega | Kilo | Hector | Deca | Base Decit | Centi
 (m,g,L) |

'
i -0 N ™ ) ] il
ko |- W21, )5 , 0| 3 L) | DO

-8 5 A .
SXI0 (B0 |Swo | D03 DD | o 5

b4

L,

-' L | (L & - o | i
‘K{D ﬁ 100 [OQO 1% () (U 9‘ (1) | X [0

a. The diameter of an atom is about 10.0nm. How many inches is this? Hint: 1 in = 2.54¢m
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@ wing span of 3.05 meters. What is the wingspan in feet? Hint: 2.5

e. If Bob weights 95kg, how much does he weigh in pounds? Hint: lkg = 2.205 pounds.

45 kel 2.205 \bos _ 30 v 9)0 s,
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f. Pricilla is driving in Canada. The speed limit is 125 km/hr. She looks down at her
speedometer and sees she is going 80 miles per hour. Is she speeding? Prove it!
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g. A bottle of apple juice can serve 8 people 8 ounces of juice. Lettie invites 29 peopletoa
party. If each person is apt to drink two glasses of juice \and each bottle costs $3.76, how nu”f_

will the apple juice cost? ~ ( § o= @.&\)

| botfle = &8




' B )
,,,,,
.........
e .

- - — - e

2. Ifthe ¢ densffy of Katrinium is 9.37g/ml, how many milliliters does Mrs. Smi hn
18.7g of Katrinium?
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3. The density of lead is 11.34g/cm’. If a Super Chemist has 48 ml of lead, how many grams
does he have?
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4. If a substance has a mass of 2.457g and takes up 9.245 ml of volume, what is the density of -
the substance?







